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Q.1) 9 & TUrRdS BT |

(i) 100 — 25p2

B = 102 (5p)> {a®-b? = (a+b)(a-b)
= (10 + 5p) (10 - 5p)

(iv) X2 - 25

= x? - 52

= (x + 5) (x = 5)

(V) x2 =9

= (x + 3) (x—3)

(vi) x2 - 16

= (x + 4) (x—4)

(viii) (2x + 1)% = 9%?

= (@2x+ 1+ 3x) (2x + 1-3x)

=0Bx+1)(1-x%)

Q.2) O JTd BT |

(i) 102 x 102
= (100 + 2)?
= 100% + 2 (100) (2) + 22
= 10000 + 400 + 4
= 10404

(i) 157 x 143

= (150 + 7) (150 - 7)
= (150)% = (7)?

= 22500 - 49

= 22451
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Q.3) FufafEad &1 7. 9 31 S| >k
(i) x2 -1 3R x4 -1
B | =2
=x+1)x=1)
=1 = () (12)?
= (x+ 1)2 (x = 1)?
A TgUGI HTH. . = (x + 1) (x— 1)

ol

(iv) x3 —y3 Sasz—yz

B X~y = (x=y)(X* + 2xy +Y?)
= (x=y)(x + y)?
X —yr = (x+y) (x-Y)
3T SgUGl BT .. = (x +y) (X —y)
Q.4) gfafad &1 9. 9. 31 P |
(i) (x + 1)3 3R (x + 1) (x -1)
B (x + 1)° (x -1)
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